| Semesier B.Com. Examination, November/December 2013

{Semester Scheme)
(2011-12 Only)

COMMERCE
Business Economics — |

Time : 3 Hours Max. Marks : 100

Instruction : Answers should be written completely either in English or in
Kannada.

SECTION-A

Answer any eight of the following. Each question carries two marks. (8%x2=16)
O33R TITITR 03D @’%ﬁ@#dﬁ WO, TS m@’@iﬁ 2 90350,
1. a) Define Business Economics.
RBRT0F @qﬁrmr\:\; 3 WY AR,

b) State the Law of Demand.
eRB0oD ammmﬁg{ PR,

c¢) Define Production Function.
YUBITTD FIOIF FE03 T8I Aedd.
d) What is Marginal Utility ?
203 é)&'&ma‘a QOO BRI 9

e) Give the meaning of Market Demand Schedule.
BRTOE edBoD ORI e;aqﬁraﬁaig{ &3

f) What are Economies of Scale ?
BRFT DT 01N DT ?

P.T.O.
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g) Give the meaning of Budget Line.
RVONE S003) Bead 0BT ?

h) State Law of Supply.
P38 aobmddgl SR

i) Give the meaning of Opportunity Cost.
T3 2 POTTE) ?

j) Distinguish between Firm anpd Industry.
0% D) VT R TAANI, SPR.
@ -0 3 33 =

SECTION-B

Answer any three of the following. Each question carries eight marks. (3x8=24)
CINTJTRTTR RoRD TRV Yug0R. B3 ZIT 8 LI0BNE.
2 Who is Business Economist ? Discuss the role of Business Economist in a
firm.
R HO08 T TR, HOTT CIRTO ? RoRoDY BB TWIW), STOR.
3. What do you mean by Consumer Sovereignty ? State its limitations.
O RENCI T LR, DOTTERD ? 53 ejieﬁsa’ﬁ@;a’% EDR.

4. Whatis meant by Total Outlay Method ? From the following information determine
the nature of price elasticity of demand using total outlay method.

2,633 5303 DRS 0TI ? FINS QBWONPoT 23S 23edd 2SI B, DRBRR, WD
e g G ® o = ol E ed

33, d%@oﬁo@méocﬁo&@o&ﬁ
Price ©33 Qty. W3eR3 IR0
a) Rs. 12 500
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08 900
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b) Rs. 12
10
08
I c)-Bss 12
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MC of a firm.

500
600
750
500
525

625

Output (in Units)
WTEI (PINYY)

Total Cost (in Rs.)
sy (. 19Q)

400

480

550

590

620

650

730

820

950

SECTION-C

6. Explain why demand curve always slopes downward from left to right.
wIe@BoD Seadodon SBROT W, BPBNDTPNTIRTEE 7 DBOR.

Answer any four of the following. Each question carries fifteen marks.

CIRFYTTTR TR, BINOT LUoR. F& TI1 15 o3nzh.
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5. Fromthe following cost data given below, calculate FC, VC, AFC, AVC, AC and

NS DWONY Ao FC, VC, AFC, AVC AC 2020MC r‘\’eéd:gt BOWIGROD.

(4x15=60)

7. Explain the Law of demand with schedule and diagram. What are its assumptions ?

eRB0D aodadaddgl RIRRLS $0B) BeT0eZNRR0DT DBOR. BET LWIBNFR)D) ?

8. Define Law of Equi-Marginal Utility. Explain the law with limitations.

T — AEDNO3 @%msa 033 ngaa%zs Qe @ojoa’nda’% esieaa’ﬁr{@moaﬁ QRO
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9. From the data given below, find the trend values for each year, using the
method of least squares and estimate the annual sales for the year 2013 and
2014.

B3I BR800 WeRo3NPon Beed B0 aﬁ@@zsaﬁaii TR, BN e—u’a;\%omoc:i
TOT0EEC0D 23080 2013 Horiw 2014 O SR T ormzd BRTDEIETI, BOBIRCD.

Year s=s 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011

Sales (Rs. in lakhs)

2
o (o ogpoai 259 ofa BuR B 83 9198 el0011120

10. What are internal and external economies ? Explain.

30230F TN 2IRT, QOB 00N 030 ? DFOR.

11. What is Demand Forecasting and explain the methods used for forecasting the
demand.

e3eRBOD L0392 DOTTERD 7 T2 23eRBODT), LOTIDE FWINEES DERIAIZ VSOR.




